4.2 Practice - Substitution

Solve each system by substitution.

1) y=—3x
y=6x—9

3) y=—22—9
y=2x—1

5) y=6x+4
y=—3r—5

7)) y=3r+2
y=—3x+8

9) y=22—-3
y=—2x+9

11) y=6x—6
—3r—3y=—24

2) y=x+5
y=—2x—-4

4) y=—06x+3
y=>06x+3

6) y=3z+13
y=—2x—22

8) y=—2x—9
y=—>5x —21

10) y=Tzx —24
y=—3x+16

12) —x+3y=12

y=06zx+21

14) 6x —4y=—38
y=—06x+2

16) Tx +2y=—7
y=>5xr+5>H

18) y=x+4
3r—4y=-19

20) y=—2x+38
—Tr—6y=—38

22) x —2y=—13
dr 42y =18

24) 3x —4y=15
Tr+y=4

26) 6x + 4y =16
—2r+y=-3

28) Tx +5y=—13
r—4y=—-16

30) —bz —bHy=—20
—2x+y="7



31) 2z +y=2 32) 20 +y=-7

3r+Ty=14 Sr+3y=-—21
33) x+5by=15 34) 2z +3y=-10
—3x+2y==6 Tx+y=3
35) —2x+4y=—16 36) —2x+2y=—22
y=-2 —5r —Ty=-19
37) —6x+6y=—12 38) —8r+2y=—6
8r —3y=16 —2rx+3y=11
39) 22+ 3y =16 40) —x—4y=—-14
—Trx—y=20 — 6z +8y=12
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4.2

Answers - Substitution
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